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We derive R°2% from w3 — VA FINOXR 39D

OVERVIEW

The X713 concludes that concerning v3 all agree that 2% is 7° DWwn; however
the argument between %" °"3 is concerning a 7X°¥» of a mwp in her 1%m;
whether we derive X°Xn from b3, that just as by vx a 710p has a (7> @QWwn) X0
so the same applies by nX°¥n and the 710p is AP a AX°X» through her 7xn, or
we do not derive 1X°¥n from v, and by 1X°x¥n the I8 1°1P is MW avwvna, so
the 71vP has no 7¥n by Axxn. It seems if we do derive XX from 3, then a
7IvpP can be 11 a AR°Xn (through her 7xM), even XN»7R72. Our MdOIN rejects
this notion.
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This ‘deriving’ (that we derive nXXxn from ©)) is merely a rabbinic
derivation, for the nx°2% of a JuP does not belong to him Xn»7XT»; only

322977, This is true -
— 0159391 1351 2991 %) (02> 97 1apY) INT DI %297 179N

Even according to >''1 who maintains that if one takes away from a jup a
7R°¥n which a up found, it is real 913, nevertheless this means that it is 972
713 only 33971, We therefore conclude that the v aR*¥n 1109 is also only 112777.

:*98M 19395 NYN 1329557 21999 K9 9 19399
And concerning the 75 of a (ju?1) 71vpP there is no argument; all agree that
that a 771021 VP have a 7> regarding XX, for (7312771) we derive 7X°Xn from
v3, but rather their argument is only concerning 2x2rn.

SUMMARY

All agree that 1312771 a VP can acquire a 7XXn (through 7> 1°12), but not
Xn>>Ix77. The dispute between 7" and *"1 is if a 71vp or a WP can be mp a
(11277n) 7X°¥n, through 73m 1°37.

" The word 159" generally refers to a 70 derivation; however here it is only a 112772 T2, There is no
11p for a RN KA Jup regarding a XX,

2 The R mx there cites a 73wn that if one steals a X% from a 0P there is an 177°T MO°K; however it is only
29w 577 *191. The P has no recourse to recover the stolen 8°¥n. However 01 ' maintains that it is 512
T113; the Jup can recover the stolen 1X*¥1. The X713 explains that the 7173 213 is only 0:7°7271; not RN»IRTA.

? The nmwn (cited above in footnote # 2) clearly states that there is 91 by Jop nX*xn. Therefore "7 must
agree that a 7up can be n1p a nX*x¥n. The logical conclusion is that the vp is 7P through 7.

4 Regarding 2 there is a dispute where 7" maintains that a (Ju1) 71vp has only 7° 1°1p but not 21 11p for
the 0°mdn did not ‘derive’ nX>¥n from i regarding 7317 7°1p. See ‘Thinking it over’.
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THINKING IT OVER

If 5" agrees that a 73vp has a 7 ip by ax*gn (for we derive it from v3),” why
does he maintain that the 7710p does not have a %1 11 by 7X°¥n as well (and
we should derive it from v3, just as we derive T’)?!6

3 See footnote # 4.
% See "X # 38.
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